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=2 K & OUT = IN | GR | HDCP | NET e =12 K £ OUT IN | GR | HDCP | NET e
B 7% FE 42 39 81 12.0 |/69.0 51 rE 42 46 88 10.8 | 77.2
#E x EiE 40 41 81 10.8 70.2 52 EH & 47 47 94 16.8 71.2
3 K@ BB 3% 3 70 -1.2 71.2 AR OE 53 M B 47 46 93 15.6 7.4
4 WmAXx S8 39 | 43 82 10.8 71.2 54 FHE EBH 51 | 53 104 26.4 71.6
5 KFH & 41 40 81 | 9.6 | 71.4 55 =H X 51 | 47 98 20.4 ' 77.6
6 FEE 18 45 47 92 20.4 T71.6 5% e #Ex 51 53 104 26.4 77.6
7 EA FA 37 141 78 6.0 72.0 57 |&RE  #h 42 49 91 113.2 | 71.8
8 iU HE 38 |38 76 3.6 72.4 58 &t fEA 53 | 50 103 25.2 71.8
9 EO HE 43 39 82 | 9.6 | 72.4 59 X~E 2 40 51 91 113.2 | 77.8
10 fREE IE— 41 40 81 | 8.4 |72.6 60 ki SEiE 42 42 84 | 6.0 |78.0
11 & 8R 41 45 86 13.2 72.8 61 BEH =i 47 42 89 10.8 | 78.2
12 35~ %E 39 | 41 80 7.2 72.8 62 HKiz EIE 46 55 101 | 22.8 | 78.2
13 &% #Bx 42 43 85 12.0 | 73.0 63 ik BA 41 47 83 | 9.6 | 78.4
14 &R & 42 42 84 110.8 | 73.2 64 WE =P 48 52 100 | 21.6 | 78.4
15 H0 #A 43 47 90 16.8 73.2 66 BE XA 47 44 91 12.0 79.0
16 /MER EF 43 46 89 15.6 | 73.4 66 H —® 41 48 89 | 9.6 | 79.4
17 5%k Bz 48 51 99 1 25.2 | 73.8 67 = g — 50 | 51 101 21.6 79.4
18 b 178 44 55 99 1 25.2 |73.8 68 HE SPi 47 48 95 [ 15.6 | 79.4
19 i L@ 37 | 44 81 7.2 173.8 69 E1#H f& 48 50 98 18.0 |80.0
20 Ktz —% 44 42 86 12.0 | 74.0 0 K&t 49 49 98 18.0 |80.0
21 |4t @& 41 44 85 10.8 | 74.2 N dEE E 44 48 92 112.0 | 80.0
22 HA 3 50 | 53 103 28.8 74.2 12 AT #HiE 48 54 102 | 21.6 | 80.4
23 ®ENIl =ZER 43 42 85 10.8 | 74.2 13 FEk IEF 50 | 52 102 21.6 80.4
24 kH =& 41 43 84 | 9.6 | 74.4 14 &R KM 43 46 89 | 8.4 |80.6
25 IBE ZRBhA 43 47 90 15.6 | 74.4 15 w5 &= 47 54 101 1 19.2 | 81.8
26 Fig & 45 44 89 14.4 | 74.6 76 #B4h EB 52 | 46 98 15.6 82.4
27 & ®H 42 41 83 | 8.4 |74.6 17T == & 62 | 59 121 36.0 85.0
28 &L F09T 45 44 89 14.4 | 74.6 18 EH EFE 53 | 51 104 15.6 88.4
29 | EH & 42 41 83 | 8.4 |74.6
30 KT fz 45 53 98 22.8 | 75.2
31 KH ®X 48 44 92 116.8 | 75.2
32 = BA 42 44 86 10.8 | 75.2
33 HE EE 43 41 84 | 8.4 |75.6
34 HE EHE 36 | 41 77 1.2 15.8
3B AE IE— 4 39 83 | 7.2 |75.8
36 W EHif 45 44 89 13.2 | 75.8
37 =T fEif 48 52 100 24.0 | 76.0
B BE F 43 45 88 12.0 | 76.0
39 iBAE A 38 | 4 82 6.0 76.0
40 FHEHE A 48 46 94 118.0 | 76.0
Mk EF— 52 | 48 100 24.0 76.0
42 RO #HA 50 | 49 99 22.8 76.2
43 #u T 39 | 41 80 3.6 76.4
44 5= HBE 47 44 91 14.4 | 76.6
45 il IEA 45 51 96 19.2 | 76.8
46 R B 4 46 90 13.2 | 76.8
47 W & 52 | 44 96 19.2 76.8
48 IR IEX 43 47 90 13.2 | 76.8
49 FL RmE 39 |45 84 7.2 76.8
50 BER @™E 4 50 94 16.8 | 77.2
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